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- _ _ NUE &
SN HB L SA(3H) - MRAY - B S 0 & 2 i {ImEF]

= 1,500

201 Yer2o| 1,000 1,000 0
= 500
= 500

01 At 1,000 1,000 0
CETI=E VL 1,000
—S0| DSEY W M 5,0002 x200 * 13| 1,000
= 500
= 500

206 M= HI 1,000 0 1,000
= 500
= 500

01 M2l 1,000 0 1,000
O2HI2E AL 1,000
—SIINRSEY £2E7Y 10,0002 * 10074 1,000
=2 500
= 500

301 YerEAZ 1,000 2,000 £1,000
= 500
= 500

10 BAFAHI A 1,000 2,000 A1,000
O3 2 XA 1,000
—=0| DSEY AR SA 1,000, 0002 1,000
= 500
= 500

SN RS ERTY) 14,000 0 14,000
= 7,000
2 7,000
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S Ol Dt
A SN EH (SEHS AN/ 5 - 5E)
SE RSP InE SCRCED
- _ _ NUE &
SA-FB . SA(3) - MEAMY - BLS abou Ok ot s
405 KHobESH 14,000 0 14,000
= 7,000
i 7,000
01 MHARESFSH 14,000 0 14,000
OZHIET A 14,000
mE= ESFSHEI +¥ 14,000,000 *1CH 14,000
= 7,000
= 7,000
SHM2AZH (D=L ) (I1EHIIEL 120,956 102,756 18,200
QI 2 10,883 10,883 0
QIAHI(ZB =2 AH) 10,883 10,883
101 el 10,883 10,883 0
01 E= 10,883 10,883 0
O3A=oJAt =Y 10,883
—gHEs dd=s 600,000& 128 «1H 7,200
—fIEx=E 30,0003 123 1Y 360
— X222 =F 5,538& 128 x 1 +50Al 2¢ 3,323
Jl=2Z4l 110,073 91,873 18,200
Jl=2Z 4l 110,073 91,873 18,200
201 Let2d 62,463 50,730 11,733
01 AtR2te 41,040 38,494 2,546
ORMEH 1,940,000 18 34,920
OSHI(S20H4lHl) 7,000& x18H 20 2,520
O&X= 150,000& »2CH=12& 3,600
02 2324 21,423 12,236 9,187
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M IS
A HY2HZHI(OISHL ) (JIEHDIE
el Jl=2&l (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
OSINME 2L S (XHE) 20,0003 »5CH»23] 200
OXeEEE= 223
—XEXHAM(SE) 59,0003 = 1CH 59
—XESIHA(3E2) 41,0003 +4CH 164
OoxtgsX2eldl 21,000
— S8 (3%, 25,000km Ol 4) 5,000, 000& = 1CH 5,000
—3st=2 (&%, 130lat, 25,000km Ol 4&) 4,000,000% *4CH 16,000
202 O4Hl 39,690 37,924 1,766
01 =LA bl 39,690 37,924 1,766
OZ LI 120,000 *18H »12& 25,920
O&2 ¢l 85,0003 »18H 9 13,770
203 HRF4HI 4,920 3,219 1,701
02 HIMMHRE=EH 720 692 28
OZ It H =] 40,0003 18 720
04 REN2IHRFAH 4,200 2,527 1,673
ORAN2SIYR=LAH 350,000& *12& 4,200
405 KH&HFESHI 3,000 0 3,000
01 T =SS HSHI 3,000 0 3,000
O &I =237 7 3,000,000& 3,000
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